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- AB-235275
M.Com. (Semester-1I) Examination, June-2025
(Backlog)

ACCOUNTING FOR MANAGERIAL
- DECISION

Time Allowed : Three Hours
Maximum Marks : 70
Note : Question paper is divided into four sections. Attempt

questions of all four sections as per direction.

Dlstnbutlon of marks is given in each section.
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- ( Objective Type Questions )
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1. Attempt any ten questions. Each question carries 1 mark,

[10x1=10]

mmm%wm|mgmmm%.
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(ii)

(i)

(iv)

W)

P/V ratio shows the relationship between

If the Operating Ratio is 70%,.the Net Profit Ratio

will be

3 HERH SIAE 70% B, A Y& A A
........ &I

Flow of funds means change in

AB-235275/530 (2)

(vi)

(vii)

AB-235275/530 (3)

Cost of production will not change with the change
in which of the following?

(a) Wages
(b) Direct expenses
(c) Selling expenses

(d) Manufacturing expenses

Frafofaa # & Frad aitads 29 & S ara
omaRafia &7

(a ‘W;&

(b) HIE =F

(c) fopa =@

d) T =g

Issuing shares in consideration of Building is

called :

(a) Operating activities
(b) Financial activities
(c) Investment activities

(d) None of the above
[P.T.O.]
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(iX) If contribution is zero, loss will be equal to

(@) = T e : cost.
) 5
© R B | % e g7 2 @ A AR % AL
| - | 2 |
© AT e - (x) Investment can be :
d) SWRETF I W b (a)  Current assets

(i) Idealliquidity ratiois : (b) - Fiedasgss
(c) Intangible assets

€)] 2:1
(@ Both(a)and(b)

® 1:2 | SR B
@ 11 | o | (a) g wE
(d)  Noneofthe above (b) TR
et o P ¢ | R

‘@ A () AR ()
@), %7 : | (i) Cash received from debtors results into :
k) 1:2 | | (@  Application of funds
(c) 1:1 | - (b) Sources of funds

(c) No flow of funds

d I # § B T

(d) None of the above
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Al & Jwg R A B ¥ : (xiify  The Annual Report of a company is issued to its ;

(@) Y H | (a)  Auditors
by P H W i ' (b)  Shareholders
(c) TN NAE EL | | (c)  Management
1
(d) IR CE | %Tg (] | (d) Debtors
(xiy  Function of Reporting is : !’ FAt F affs Fae & ... o
(@)  Giveinformation o 2
(b) Measurement of management efficiency ! (@) SRZE
(c)  Both (a)and (b) (o) ST
id) None of the above \ ' () S
(d) T

g & FE -

i ; (xiv)  Horizontal Analysis is known as :
(@) T MM BTl '

(a) Dynamic analysis

(b) YD HEA H AGT
(¢ 2 (a) AR (b)

@ o A R K

l
|
I‘ (b) Structural analysis

() Static analysis

(d) None of the above
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e e @ e § ¥ S S E , | (i) Whatis trend analysis?
@ e R | s Rrdieer 7 %7
(b) R T
© o R
o oA

'SECTION-B / @8-

(iv) What do you mean by marginal costing?
T ARIFA § S T &7

(V) What is B.E.P.?

) o= B4
( Very Short Answer Type Questions ) . forg 7 &
( afer g Sd R ) . (vi)  Whatis called cash from operation?
Note_: Attempt any five questions. Each question carries 2 _ . 7 g ¥ IS T Teg 57
marks. (word limit : 25-30 words) [5x2=10] S
SECTION-C / §%&-9
et Urg I 3 Sa i nﬁwﬁﬁ 2 eﬁﬁmr%l
(g € < 2530 91=) , . l ( Short Answer Type Questions )
2. ()  Whatdo you mean by Target Costing? ' = ( 9y SoiE 9 )
T AFTAIST | SYH i 77 Note: Attempt any five questions. Each question carries 4
() Write down any two objectives of Reporting. marks. (word limit : 250 words) [5x4=20]
. | 5 4 3 H Bl
ST B B ARy R | e el et B I AT SR
(qrex W : 250 =)
P.T.O.
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Describe the objects of ratio analysis.
ST R B R elrgal

(i)  What are the factors which affect the "make or

RN

buy" decision?

vgel T R Pl @ gl FE a

PR DIF-DF T &
(i)  Calculate Break-evén point.in Rupees :

2023-24 2024-25

Sales () 10,00,000  15,00,000

Profit (%) 1,00,000 2,00,000

-Rede forg @ sl § O I
2023-24 ~2024-25

forrd (7) 10,00,000  15,00,000

T () 1,00,000 2,00,000

(iv)  What are the sources of cash flow staterﬁent?

53 T R 3 F-B9 § A 7
AB-235275/530 | (10)

(v)

If net working capital for current year is ¥ 25,000

while it was (=) 7 40,000 n the previous year. What

is the net change in working capital?

q&ﬂl@ﬂdﬁﬂamﬁaﬁﬁ % 25,000 ¥,
s T af ¥ 3 (o) 7 40,000 @, & o=
FAT T % Radw & ofr Beeh 2

(v  Give a specimen of comparative income

statément for two years.
il & qIeTs T e # A A
(vii) Diécuss the limitations of Accounting Ratio.
e ST & A B T
" SECTION-D / @8- |

( Long Answer Type Questions )

(& Soda ww )

Note: Attempt any three questions. Each question carries 10
marks. (word limit : 500 words) [3x10=30]

Rl A T & IR AR T SR 10 ST
% (v @ : 500 9=)

‘AB-235275/530 (11) [P.T.O.]
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| .
4 ()  Explainthevarious methods of financial analysis. | Calculate :

P/V rati
i R ot R R T AR A
s (b) Sales at B.E.P.

(i) Distinguish between operating, investing and (c)  Sales required to eam a profit of Z 30,000,

financing activities. '
il , ; (d)  Sales to earn a net income of 10% on sales.
s, R o fefia Brnet § ot w Rr=Rifee e @ g P & et §
S | L R Z 10 o 3
(i)  Whatis meant by Activity-based Costing? Explain qReEameie Fd A £5.50 i 3618
its steps and advantages. N TCREEIN] ﬁib'q [SING] Z 1.50 OfT 3F%
BT R e @ o ¥ PR | R F AL
A T & S o e Ao TR o S a0
(iv) The following data is related to small .
manufacturing company : : A @ T
(b) TRk Ry W R
e Lt <10 peruni | () 30,000 iR A B Rl el
Variable works cost % 5.50 per unit | @ REll W 10% I FA R a0 @ R aifea
Variable selling cost : % 1.50 per unit P
: o ()  From the Balance Sheet given below, prepare @
Fixed works cost %2,70,000 fund flow statement
* Fixed selling cost ' |
¥1,26,000 .1.0.
AB-235275/530 (12 ‘ AB-235275/530  (13) [P-T.0.]
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- (Partlculars)
IEQUIty and liabilities :

Share holders funds P
§Share Capltal —

fReserves and Surplus
'General reserves
%Statement of Profit and Loss
(Surplus)

Bank Ioan
Current liabilities : ORI
Trade Payables 75,000, —

1,00,000,

15,250

25,000,

31.3.2024 | 31.3.2025

1,25,000

15,300

67,600

15,000

17,500

_Provrsron for taxatlon

2,65,250| 2,55,400!
: i

%0000

iAssets

'Non-Current Assets : T
Building 1,00,000, 95,000
Plant | 75,000 é45bo
iGOOdWllI - — 2 500
Current Assets : o ’
Inventories 50,0000 37,000
?Trade receivables 40,000 32,100

Cash and cash equrvalent'

250

i
O |

2,65,250, 2,55,400]

Addltlonal lnformatlon

(@)  Dividend of ¥ 11,500 was paid during the year.
(b) - Depreciation was charged of ¥ 7,000 an plant and

5,000 an building.

() ¥16,500 was provisioned for tax during the year.

AB-235275/530 (14
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i““
|

1,00,000 1,

125000

31 3 2024 31.3.2025

?
|

|
25,000

30,000

(} Sca

15250 15,300
35_-0092 67,600
75000 —
15000 17,500
2,65,250 2,55,400
100,000 95000

75,000, 84500
— 2500
" 50,000, 37,000

40000, 32,100

T as0 4300

| 265250' 2,55,400

[PT0.]
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a?ﬁiﬁiﬁﬁ'ﬂﬂﬁ
@) af ® W ¢ 11,500 T @i Rar w@mo

b) W€ W % 7,000 T 9aT W 25,000 B T
T |

(© af ¥ & R 716,500 F WA R T
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